EAGRAROBREERT — 2 N— IBISH —F

20215 7H48 (B) 4m=%16H

mi CEEWEVRER C3 7Rk EEDE IR
[A&4£] 1 7% :500,000 ™ ~ 23#&:175,000  ~ 3 #&:100,000 @ . 4 3#&:75,000 @ .~ 5 7 :50,000
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
PUBERSN :25. -3-2- . — mERE (FH)
1 3 rTHIL 4 3 i 1(2_5)2 2-3-2-1 | 40.2 2 ;1_360) e
RYHRG4IFR BHITTIFS AEH &
— N . [ A BB :25. -1-1- . — hEEE (EH)
2155 If714—>A—2X * 4 A51.0 (12215/27) -2 1 40.9 4 ?:350) REZE
R:YZZRE—3IZRE— BiAIC ALY~ =it e
P = e B4 | BAEX 1:25.9 4-4-4-4 | 40.7| — 5 436 | BBXEH (&)
(1 2 MU 54.0 ) () | FLEKE—ER
:vQ7% BUTLRANT B =Sl
- N HRENT : 00— — hEEEd (SH)
alglin| 7z xFcT7—0 o7 o 1(.12;52.)0 3-2-2-3 | 41.0 7 <4+710) s
L:¥>dnMA— BILT+T—) L2 BEKS
TSRO BT = :26. —0-8- . - RESHE (FH)
sl7|g|~oHzT vany 5 B (11216/23) 8-9-8-7 | 40.2 8 <5+126) zre
R:ZrOCTYE—> BhavFREL HET7— L
S s TR E— :26. -11-11-8 [ 39.8 | — EiEdE (E5)
6l1l1|Vams7o> by #H 3 e 1(72?‘:;1 11-11-11-8 | 39.8 6 (4_311) e
L:7Ud—v BNRIVISEBF—I ~ FEBFRRARSEFRS
. NN £ 9 | AHERE 1:26.5 6-5-6-6 |41.0| — 1 470 | BAAREE (SH)
7 7|~ annor 7 560 1/2) 3) | 4% #ox
ZonNd B:Yau/IUHXRX Sote ]
- o4 | HEBES 1:27.6 9-6-5-5 | 42.0 | — 3 455 | BEEILFAE (SH)
8 2| b¥T1—F 56.0 ) w3 |8 FIIoF
R:xYULTyk BTFE-—LIFILS T EAR
“ ZHESD :27. -8-9- . — THEER (FHM
9 6 LY IILAZR 4 4 5’2_0 1727t)6 5-8-9-10 | 41.6 9 (4_852) e
L:T7x/—*/ BANIECRIILAZX 7Y et
i LT Hhkta :27. -10-10- 4 - FHA (BH)
1007l 9 o ANIT ) F 4 9 s 1(72;7 10-10-10-11| 41.4 11 (4_5“7) s
:xA1ZT7—Z BT RYI1YLy R (B) #HAEI-FKL—va>AET7
S S BIRFE I :27. ~7-7- . - #EE (BH)
1118 /10| 71—V FT U o {520 172{:)7 TS 420 0 ?_140) EEER
L:a—-T>70> BNERTINI—-> KAt
@ 11— S —&EBlIEafz
13=7r= 5,3,11,4,6,7,10,8,2,9,1
2= = 5,11,3,4,7,2,10,6,8,9,1
BEE/aE 5,(3,11),4,2,7,10,8,6,9,1
43—+ — 3,5,11,4,2,7,8,1,10,6,9
[ RNz
BB 3 350M 74K 3-5 510 e 3-5 1,060M JEHE 3-4-5 3,120/
8 B 3 200M 3-4 490M B = 3-5 1,080 K31 3-5-4 12,430H
5 280 4-5 810M B H 3-5 1,890
4 180M4

ARICOVWTRDTEEERROODE. TR LIV,




